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PUBLIC ADMINISTRATION
Paper - 11
Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

marks. Attempt all the questions.

‘Politics and Administration’ by
F. Goodnow

(A) further advances Wilsonian

Theme

(B) contradicted the Wilsonian
dichotomy

(C) supplemented Wilson’s
arguments

(D) although agreeing with
Wilson’s thesis offered new
arguments.

‘Administration is politics since it
must be responsive to the public
interest.’

The above statement is attributed to
(A) L. Urwick

(B) J.M. Pfiffner

(C) P.H. Appleby

(D) L. Gullick

Which of the following is described
as anti-theoretic, anti-positivist and
anti-hierarchical ?

(A) Comparative Public
Administration

(B) Development Administration
(C) New Public Administration

(D) Traditional Public
Administration

Integration is considered as the best
method of resolving conflicts
according to

(A) Elton Mayo

(B) Urwick

(C) Mary Parker Follett
(D) Chris Argyris

The significance of secretariat can be

high-lighted as

(A) it serves as a nucleus for a
ministry

(B) indispensable  for  proper
functioning of Govt.

(C) it facilitates inter-ministry co-
ordination

(D) all the above

Which constitutional provision deals
with adjudication of disputes relating
to waters of inter-state or river-
valleys ?

(A) Article 261 (B) Article 262

(C) Article 263 (D) Article 253

The National Development Council
consists of

(A) The Prime Minister, the Chief
Ministers of all the States and
the members of the Planning
Commission.

(B) The Prime Minister, the Chief
Ministers of all the States, the
Central Cabinet Ministers and
the members of the Planning
Commission.

(C) The Prime Minister, the Chief
Ministers of all the States,
selected  Central = Cabinet
Ministers, Administrators of
Union Territories and the
members of the Planning
Commission.

(D) The Prime Minister, all Union
Cabinet  Ministers,  Chief
Ministers of all the States,
Administrators of  Union
Territories and the Members of
the Planning Commission.
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10.

11.

Which one of the following
American President was assassinated
due to the ‘Spoils System’ of Civil
Service ?

(A) Abraham Lincoln
(B) Garefield

(C) Robert Kennedy
(D) George Washington

Which of the
applicable in Position-Classification ?

(A) An individual = employee
having a clear understanding

of his responsibilities and
powers.

(B) Better management and
efficiency.

(C) Equal pay for equal work.

(D) Easy mobility of personnel
from one position to another.

Which is not true about a No
Confidence Motion ?

(A) It is moved against the entire
Council of Ministers.

(B) It has to state the reasons for
its adoption in Lok Sabha.

(C) If passed by Lok Sabha, the
Government has to resign.

(D) It is moved for ascertaining
confidence of Lok Sabha in
Council of Ministers.

The Parliamentary Commissioner of
U.K. is responsible

(A) To study in depth all the bills
placed before the Parliament.

(B) To carry out the directions of
the Speaker.

(C) To look into
submitted by MPs

(D) To maintain liaison with MPs.

grievances

following is not

Latest Sarkari Jobs, Govt Exam Results
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Which is not the eligibility criteria to
become a member of the Finance
Commission ?

(A) Wide public experience.

(B) Specialised knowledge of

finance.

(C) Specialised knowledge of
€conomics.

(D) Experience as a judge of High
Court.

Disinvestment policy of New

Economic policy aims
(i) to raise revenue from public
sector units.

(i) to relieve the burden from
public sector units.

(iii)) to encourage private sector.

(iv) to avoid the criticisms of low
profile of public sector
undertakings.

(A) (1) (i) and (iii)) are correct.

(B) (1) and (iv) are correct.

(C) (1) and (iii) are correct.

(D) (ii) and (iv) are correct.

The Chairman of the National
Commission on Urbanisation is

(A) C.M. Correa (B) Sam Pitroda
(C) G.V.K.Rao (D) YashPal

Which was the first country to
introduce the ‘Right to Information’ ?

(A) Canada (B) Japan
(C) Sweden (D) U.S.A.
Under which of the following

Articles of the Constitution of India,
do the State Legislatives delegate
powers and functions to the
Panchayats ?

(A) 243 and 243 A

(B) 243 Aand 243 B

(C) 243 Gand 243 H

(D) 243D and 243 F
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17.

18.

19.

Which one is not the function of
Union Finance Commission ?

(A) Distribution of Plan Grants

(B) Distribution of net proceeds of
taxes

(C) Distribution of
Grants

Non-Plan

(D) Measures to augment resources
of Municipalities.

Which is not true about C & AG of
India ?

(A) Appointed by President by
warrant under his hand

(B) Take an oath according to form
set out for the purpose in the
fourth (IV™?) schedule.

(C) Not eligible for further office
after he has ceased to hold
office.

(D) The administrative expenses
for his office are charged upon
Consolidated Fund of India.

Which of the following is not the
essential feature of ‘Writs’ issued by
the Courts ?

(A) Writ jurisdiction of High
Courts is wider than that of
Supreme Court.

(B) Parliament under Article 32
cannot empower any other
court (other than Supreme
Court and High Court) to issue
WrILS.

(C) Supreme Court can issue writs
for enforcement of
Fundamental Rights.

(D) High Court can issue writs for
enforcement of Fundamental
Rights.

20. Which one in the following is not the

21.

component of New  Public

Management ?
(A) Delivery
services.

of high quality

(B) Rigorous performance
measures of individuals.

(C) Managerial support services to
facilitate achievement.

(D) To formulate welfare policies
of the Government.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).
Examine these two statements
carefully and state if the Assertion
(A) and the Reason (R) are
individually true and if so, whether
the Reason is a correct explanation
of Assertion :

Select the correct answer from the
codes given below the question.

Assertion (A): There are many
differences
between  public
administration and
private

administration.

Reason (R) These differences
are because of
working system of

the organisations.
Codes :

(A) Both (A) and (R) are correct
and (R) 1is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.
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17.

18.

19.

17 ¥ 9 1 91 e W e ST
T ?
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(B) =T 32 & oA Wug Re
SR #A % fow o e
AT (3TdY FEed 3
3T e ¥ 19T) ot e
TS el o Tehal & |
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(C) 3UdAfed &l W I & folw
YR e Yoy |

(D) TIPR D FHeAUBR A
AR HE |

T 37 et o7 U €, e @ U A e
(A) T W H I (R) Fel TN & | A
AT T TS TXET0T HISTT T TATST foh
T HIT (A) T4 T (R) SR ©9 9 el &
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21,  AfHHAT (A) : TR WA 3R
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(A) (A) 3R (R) SHT @& € 3R
(A) %7 (R) Tel TERUTE |

(B) (A) 3R (R) T @& € 3R
(A) T (R) TEl TEIH0T el
gl

(C)  (A)WEE, W< (R) T € |
(D) (A TEd 8, W (R) T T |
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22,

23.

Assertion (A) :
between the superior and

Relationship

subordinate is not essential in

hierarchy.

Reason (R) Delegation of
authority is possible in
hierarchy.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

correct

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

Assertion (A) :
political activities of Public

Restrictions on

employees are in their own
interests.

Reason (R)
servants ensures that all of

Neutrality of civil

them are treated alike.
Codes :

(A) Both (A) and (R) are correct
and (R) 1is the
explanation of (A).

correct

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

24. Assertion (A):

25.

Civil
the developing countries need
to be
and  science  of

servants in

trained in the art
Public
Administration.

Reason (R)
and science of

Training in the art
Public
Administration is involving
huge expenditure in the

developing countries.
Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

correct

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

Assertion (A) :
tion is essentially accountable

A Public Corpora-

to the Legislature.

Reason (R)
custodian of public finances.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

Legislature is the

correct

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.
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22,

23.

AMFHYT(A) : WIHT H T
JMEYaF &l € fF AR SR
ST o S G & |

% (R) : TSIRRT H TSR
I G G ¢ |

&
(A) (A) 3R (R) ST @& € 3R
(A) T (R) Tel TERUTE |

(B) (A) 3R (R) 3T @& € 3R
(A) T (R) T& TT=IRT &l
g

(C)  (A)WEE, W< (R) T € |
(D) (A TEd 8, W (R) T T |

ANHAT (A) : TER FHANE
TSI TShaTeheATal IR WfcereT
SEFBEIAE |

& (R) : AHHIRT Eal
T I GHvad wXdt § &

37 T T THGH THST ST
g

(A) (A) 3R (R) ST @& € 3R
(A) T (R) Tel TERUTE |

(B) (A) 3R (R) T @& € 3R
(A) T (R) T& T=IRIT &
g

(C)  (A)WEE, W< (R) T € |
(D) (A TEd§, W (R) T E |

24.

25.

AfipeT (A) : Towreier <o &
TafareT Waehi ol Aich PTG oh
el 3R o 1 wfereror o
S ol HETIRATE |

& (R) : T TR Sl el
AR oM T UREIT W
ToreRTeTiet ST | Rt =2 Toha
ST |

(A) (A) 3R (R) ST & € 3R
(A) %7 (R) Tel TERUTE |

(B) (A) 3R (R) ST @& € 3R
(A) T (R) TEl TEIH0T el
g

(C) (A)WEE, W< (R) T T |
(D) (A) A8, W (R) T E |

AMHAT (A) @ TEA T,
foamietsT & Wiq AHamEa:
IR BT |

& (R) : TorTTeTeRT TR
fo =Taee # W el
g

(A) (A) 3R (R) ST @& € 3R
(A) %7 (R) Tel TERUTE |

(B) (A) 3R (R) T @& € 3R
(A) T (R) TEl TEIH0T el
g1

(C) (A)WEE, W< (R) T € |
(D) (A TEd 8, W (R) T T |
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26.

27.

Assertion (A) : Public
Administration is an excellent
example of efficiency and

Indian

sensitivity.

Reason (R) Government  has
many a time made efforts for
administrative reforms and

rejuvenation.
Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

Assertion (A): The Government
raises funds by  public
borrowings, leving fresh taxes
and duties for economic and
social growth.

Reason (R) Dis-investment in
public enterprises since 1991
has not generated sufficient
funds.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.
(D) (A) is false but (R) is true.

28.

29.

Assertion (A) : want to

know what is being done, why

People

it is being done and how it is
being done in their district.

Reason (R) : The
administration holds a different

district

view about transparency and
accountability.

Codes :

(A) Both (A) and (R) are correct
and (R) is the
explanation of (A).

correct

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.

Assertion (A): New
Management is

Public
nothing but
debureaucratization.

Reason (R) : The
services and market economy

public
are closely linked to one
another.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true but
(R) is not the
explanation.

correct

(C) (A)is true but (R) is false.

(D) (A) is false but (R) is true.
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26.

27.

(A)  (A) &R (R) sHl @ & @R
(A) T (R) el TLE0T & |

(B) (A) &R (R) sHl @ & &R
(A) &1 (R) T&l TZHIOT Tel
T

(C) (A TEE, W (R)TTE |
(D) (A) T &, W] (R) &I & |

ANFHUT (A) : WHR  TESTHh
FORH R, T8 IR Yok
TR off9eh Ue T
foepra & foro ffa wep et

g
& (R) . TR S H o
1991 ¥ fafeer == 9 qar
Mg T TRIgE e |

(A)  (A) &R (R) sHl @ € @R
(A) T (R) el TLEOT & |

(B) (A) 3R (R) sHl W & @R
(A) &1 (R) T&l TZHOT Tel
T

(C) (A TEE, W (R) TTE |
(D) (A) 7oA &, W] (R) &I & |

28.

29.

AfHAT (A) @ AN FE STHAT =8
£ o 3eh oTet & =/ fopan =T
6T &, T foman ST @1 ¥ 3R
T ST RTE ?

& (R) : e PPHIEC
YRS 3R SIEa & an
T g1 gfeepior T g |

(A)  (A) 3R (R) sHl @ & @R
(A) T (R) el T & |

(B) (A) 3R (R) sHl @ & @R
(A) &1 (R) T&l TZHI0T Tel
T

(C) (A TEE, W (R)TTE |
(D) (A) T &, W] (R) &I & |

ANMHAT(A) : O AH U
3R FO Tel AU TR

FOT & |

& (R) : oieh Wem 3R
fauue erelemaen Tw W &
ST 3T |

&

(A) (A JR(R)IFTEIE |

(B) (A) 3R (R) IHT Wl &, wieh
(R) el AR I € |

(C) (A) e, Al (R) T & |
(D) (A) T &, AR (R) TETE |
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30.

31.

Arrange
chronological
following code :

the following in their
order. Use the

(i) National Extension Service.

(i) Community
Programme.

Development

(ii1)) Integrated Rural Development
Programme.

(iv) Antyodaya.
Codes :

(A) (1), (i), (iid), (iv)
B) (i), (i), (1), (iv)
© (), (1), (iv), (i)
(D) (), (1), (i), (iv)

Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — II
(a) Lyndall (i) General
Urwick Principles  of
Administration
(b) P.H. (i1) The Golden
Appleby Book of
Administration

(c) Herbert (i11) Big Democracy

Simon
(d) Henry (iv) New Science of
Fayol Management
(v) Work and
Nature of Man
Codes :

(@ () () (@
(A) () @i @Gv) (@)
B) i) @) (v @
© Gv) @ (@) (i)
D) (v) @Gv) (1) (i)

32.

33.

Arrange the following in their
chronological order. Use the code
given below :

(i) Committee on Administrative
arrangement for Rural
Development and Poverty
Alleviation Programmes (GVK
Rao).

(i) Committee on Revitalisation
of Panchayati Raj institutions
for Democracy and
Development (LM Singhvi)

(ii1)) Committee on Block-Level
Planning (Dantwala)

(iv) Committee on District
Planning (Hanumantha Rao)

Codes :

(A) (1), (1), (iv), (i)

B) (i), (iv), (1), (i1)

(© (i), (@), (id), (iv)

(D) (i), (i1), (1), (iv)

Arrange the following stages in the

evolution of Public Administration as
a discipline in chronological order.

Select the correct answer from the
code given below :

(i)  Administrative Behaviour
(i1) Principles approach
(ii1)) Public Policy approach

(iv) Politics-administration
dichotomy

(v)  Ecological approach

Codes :

(A (v), (1), (1), (v), (iii)

B)  (v), (i), (1), (v), (iii)

(C) (iv), (i), (1), (iid), (V)
(iv), (1), (i), (iid), (V)
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30.

31.

fAifehd st 37 RTGTIshI FH |
g&?ﬁﬁfm | FreAiTeRe el ShT TRINT
() T foER g |

(i) RIS [ e |

(iii) ~ WeRIHd UTHIOT forshTe TR |
(iv) si@rRa

% :

(A) (), i), (iii), (iv)

B) (D, (ib), (D), (v)

© (@), (@), (iv), (iid)

(D) (D, (), (i), (iv)

gt — [ gt — 11 & arer gaferd
HITT | e 5T T el T T I A
T HiT

et - 1 et - 11
(a) Toree () TRA
FUCED PIEsbres]

3ATH
TSHHEIH

(b) U= (i) & TMoed gH
ATH
TSI

(c) TIEEEA (jii) form SHmGHH!
(d) TR (iv) g T HAF
ST

(v) T TUE TR
3 T

FT :

(@ (b (© (@
A) () 3Gi) Gv) @)
B) i) G (v) @)
© @Gv) (@@ i) (i)
D) (v) (v) (i) (i)

32.

33.

fAifehd St 39 RTGTIshI FH |
AR e | A 5 T e
TR it

()  TrET fae ud T e
TSR YT e iHd
(ST 3. 36.7=)

(i) wod=A wd faem & oR
AT ST T SRR
[t (Ter.uH. Tgee)

(i) Wes-wRE [Ecw  |Ed
(Fctarrer)

(iv) e s |t (@Ha @)

He

(A) (D, (i), (Qv), (i)

B) (D), (iv), (D), (iD)

© (b, (@), (i), (iv)

(D) (D), (i), (), (iv)

UH U % w9 W @Ak WRIE @
frfefad  sfeRemsti 1 oA
3UR Faed Hive | e 53 T
e T el TR B T3 HIIT

() VRIS TR

(i)  eifce 3UrTy

(il) AT SURTH

(iv)  TTT-Sreme s
(v)  URifdes Sunm
&

A Gv), (), (i), (v), (iii)
B) (), (), (1), (v), (iii)
© (), (i), (i), (iid), (v)
D) ), (), (i), (iid), (v)
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34.

35.

36.

Arrange the following in their

chronological order. Select the right

answer from the code given below :

(1)  Shop Management

(i) Human side of Enterprise

(11) Ecology of Public
Administration

(iv) Administrative Behaviour

Codes :

(A) (1), (), (iii), (iv)

B) (i), (i), (1), (iv)

(© (i), (@), (i), (iv)

D) (@), (v), (i), (i)

Arrange the following

decision-making

chronological order :

Select the correct answer from the

code given below :

(1) Stating the best course of
action.

(i) Evaluating tentative decisions.

(111) Acquiring different viewpoints.

(iv) Investigating tentative decisions.

(v) Instituting follow-up action

Codes :

(A) 1), (1), (1), (v), (i1)

B) (@), (i), (iv), (iD), (V)

© (i), @), v), (i), (v)

D) (i), (v), (1), (D), (v)

steps in
process in

Arrange the following in a

chronological sequence using the

codes given below :

(i)  Administrative
Commission.

(i) Gorwala Committee Report.

(i11)) Gopalaswamy Aiyangar
Committee Report

(iv) Paul H. Appleby Report

Codes :

(A) (), (v), (@), (i)

(B) (i), (i1), (iv), (1)

© ), (), (iv), (i)

(D) (), (1), (iid), (1)

Reforms

37.

38.

The classification of accounting
structure in India is adopted in the
following sequence Select the
correct answer from the code given
below :

1.  Major Head
2. Sub Head

3. Minor Head
4. Detailed Head
5. Sectoral Head
Codes :

(A) 5,1,3,2,4
B) 1,5,2,4,3
© 4,1,5,2,3
D) 2,3,4,1,5

Which one is the correct sequence
for Budget preparations ? Select the
answer from the codes given below :

(1)  Scrutiny by Controlling Officers.

(1))  Scrutiny by Ministry of Finance.

(ii1)) Scrutiny by Estimates
Committee.

(iv) Scrutiny by Administrative
Ministry.

Codes :

A (), (1), (i), (iv)
B) (@), (iv), (iD), (iii)
(©) ), (1), (iD), (iii)
D) (), (i), (ii), (iv)
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34.

35.

36.

= # Ik FEAHEH FSTER
Faferd w | A9 53 T Fe ¥ gl

TR BT TIT Y

() 39 AU

(i) T 9IEe 3t TZOest

(111) ghIcATS! T qfecteh
ESLIEEA

(iv) wetHFRfea feRform

HE

(A) (1), (i), (1), (iv)

(B) (), (i), (1), (iv)

©) (), (1), (11), (iv)

D) ), (iv), (i), (ii1)

T @ @t Uiskan § fefeiiad =Rom

I HAHH SR AR HIfT |

= f5u MU P T WE IW B ==

HITTT

(i)  GaH HRETE & H |

(i)  Fiad ot 1 godis |

(i) o= gfeeahivT ot ST |

(iv) et Mot it |

(v) SIS HRETS i ST |

HE

(A @v), (1), (ii1), (v), (i1)

B) ), (i), (iv), (i1), (V)

©) (i), (1), (av), (1), (v)

(D) (i), (iv), (D), (1), (V)

= fgu MU FHe w1 WE A gU
fr=feIRad st HTemhd AR SFaferd
HITTT

(i) TR GER ST

(i)  TRETE |HT ot RAre

(i) U@ 3R [T RUie
(iv) et U, Uoetst R

FE:

A) (i), (iv), (1), (iii)

B) (i), (i), (iv), (i)

© (), (), (iv), (iii)

D) (iv), (i), (iii), (i)

37.

38.

IRA W oREiehd @ T ST
frferfiaa sreha & SToemET ST ® |
@ T F 7 & T W Hw T
HITSTT

1. T
2. U
3. gy
4. fowga ey
5.  &sEEN
E

A) 51,324
B) 1,512,453
© 41,523

D) 2,34 15

T JIR I T Tt hH 1§ 7 A
e T Fe d F W IW H T
HITTT

() T STaeRiEr gRT SaeT |
(i)  fora veTeTa R EeeT |

(il)  VToRReTT AT gRT HelleT |
(iv) SRR TaTerd ERT Haltetl |

A (), (), (i), (iv)
B) (D), (iv), (i), (iii)
©)  v), (@), (i), (ii1)

(@), (i), (i), (iv)
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39.

40.

Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — 11
(Experiments) (Focus)
(a) Illumination (1) Fatigue
experiments
(b) Relay (i1) Physical
Assembly working
Test  Room
experiments
(c) Bank wiring (iii) Human
Observation Relations
Room
experiments
(d) Interviewing  (iv) Employee
programmes relations with
supervisor
and
management
Codes :

(@ b)) (© @
(A) () (@ (@av) (i)
B) Gy () av) @)
©) Gv) () (@G (i)
(D) (v) () Gy @)
Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — II
(a) Zone of (i) Herzberg
acceptance

(b) Differential
piece rate plan
(c) Zone of
indifference
(d) Y. Theory

(i) Bernard
(i11)) Taylor

(iv) Herbert Simon
(v) Abraham

Maslow
Codes :
@ ® © @
(A) (v) (@ (i) ()

B) () @i Gv) (V)
© @i @ (Gv) (i)
(D) @Gv) i) () (@)

41. Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — II
(Commissions / (Article
Position of The under the
Union of India) Constitution

of India)
(a) Finance (i) 148
Commission
(b) Union Public (i) 280
Service
Commission
(c) Election (i) 315
Commission
(d) Comptroller and (iv) 324
Auditor General
of India
(v) 156
Codes :
(@ b)) (© @
(A) (v) (v) (1) (iiD)
B) Gy () av) @)
©) Gv) (@) Gy (@)
(D) @) (v) (@v) (D)
42. Match List — I with List — II. Select

the correct answer from the codes

given below :

List - 1 List - 11
(a) Santhanam (i) Centre-State
Committee Relations

(b) Sarkaria (i1) Higher
Committee Education
reforms
(c) Satish (i11) To prevent
Chandra corruption
Committee
(d) Yashpal (iv) Civil Service
Committee reforms
(v) Health Reform
Codes :
(@ b)) (© @
(A) (v G@Gv) (@G (iiD)
B) Gi) (@@ (@Gv) ()
©) Gv) @Gy (@) (@)
(D) () () @) ()
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39.

40.

g — [ 9 gt — 11 &1 et it

3 e fw 70 el @ Wet 3T ==
HITTT
et - 1 et - 11
(urterom) (HHH)

(a) AT (i) gFER
TRJeToT

(b) Rt wdeett (i) IR
erec - o
et

(c) % TR (iii) dHT gy
TeToT  oheT

TpeTOT
(d) TR (iv) 9Hees 3R
EACER) PECE s ol
YRG5
i,

B :
(@ () () (@
A ) @ @Gv) (i)
(B) @G (> (Gv) @[
© @Gv) @) (@) (i)
(D) @Gv) (i) () @[

gt — [ o1 gat — 11 9 e s
g1 53 T FT 7§ Hel IR B T

HIfT
et - 1 et - 11
(i) @

(a) TR
T &

(b) fadst ofwr (i) a1
T IS

(c) ST
T &

@ =mE(Y)
g

(iii) R
(iv) &< qread
(v) TSTEH HiEdt

(@ () () (@
A (v) aG) (i) (Gv)
(B) () (i) @[Qv) (V)
(©) i) @) @(v) ()
(D) @Gv) (i) (1) @)

41. g - 1 9 g — 1 & e s

42,
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T A 9T T e W IR H 99T
T
et - 1 et - 11
(T / (TR &%
U W Bt Hiqam=
fRerfa) :a)
FTDT)

(a) ot 3mam (i) 148
(b) T ik Far (i) 280

A
(c) Tairem emam  (iii) 315
(d) Y9RdH (iv) 324
IEEFED
TRTORETI [eTeh

(v) 156
B :
(@ () () (@
A) @Gv) (v) (1) (i)
B) @G 3G Gv) @)
©) @Gv) (i) @) @)

D) G (v) (@v) (i)

ga-1 ¥ gA-11 & e Sifs= qen

TS e T el I I T T
et - 1 et - 11

(a) g () FHIT™
[afd Ty

(b) W (i) ST fwen
[T TER

(c) oA == (i) YRR H
it T

(d) e (iv) 3 Far
[afd TER

(v) @eg gEur

B :
(@ () () (@
A (v) Gv) (1) (i)
(B) i) @) @Gv) (i)
© @Gv) @Gy (i) @)
D) Gy (@) @) Gv)



43. Match List — I with List — II and

select the correct answer from the

given codes :
List - I
(Positions)

(a) Constitutional
position of the

Governor

(b) Constitutional
position of
Chairman of
Rajya Sabha

(c) Constitutional
position of Vice

President

(d) Constitutional

position of

President
Codes :
(@ (b)) (o
A @ Gy (>Gv)
B) () (v (v

© v ® ()

D) @) (v) (i)

List — IT

(Article)

(1) Article 52

(i) Article 153

(iii) Article 63

(iv) Article 93

(v) Article 89

(d)

(v)

(i)

(iv)

(@)

44. Match List — I with List — II. Select

the correct answer from the codes

given below :

(a)

(b)

(©

(d)

List -1

Tenure of office
of persons
serving in the
Union or a
State.

Public Service
Commission for
the Union and
for the States.

Recruitment
and conditions
of service of
persons serving
in the Union or
a State.

Dismissal,
removal or
reduction in the
rank of persons
employed in
civil capacity
under the Union

or a State.
Codes :

(@ (b) (o)
A) @) (v) (@v)
B) @Gv) (@) (i)
© @ @ @v)
(D) @Gv) (v) (i)

List — I
() Article 315

(i) Article 310

(111) Article 312

(iv) Article 309

(v) Article 311

(d)
()
(v)
(v)
()
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43.

g — [ 9 gt — 11 &1 et i
3R TEW P ¥ T IW H a9
HITTT

et - 1 Tt - 11
(%) (31=)
(a) TMA H () BT 52

Fifareter g

(b) T WM F (i) DT 153
FAE
Fifareter g

(c) 39U F (iji) 3FT=R 63
Fifaretes g

(d) T=ad  F (iv) 3F=R 93
Fifarentes g

(v) =T 89

(@ () ( (@
@A @O G 3Gy (V)
B) () (v) @Gv) ()
© v @ G Gv)

(D) G (v) (i) @)

44.

ge-1 & geli-11 1 e Sifse 3R

= U T FT F W IW A T
IS

et - 1 et - 11
(a) WIATHH (j) IFT=% 315

FaRd

FHUAAT T

SHTAHTC

(b) TF IR T (ji) FTHT 310
% e T
AR

(c) TF R T (jij) =T 312
¥ geRda
FHRE
et AR G
=1 ot

(d) ¥F A () T8 309
T T

(v) =% 311
&
@ ) (© @
A @) () ) O
B) Gv) @) @) (v)
© @ @ @) W
D) Gv) (v) (@) @
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45. Match List — I with List — II. Select
the correct answer from the codes
given below :

List - I List - II
(a) Ashok (i) Zila Parishad to play
Mehta pivotal role
(b) G.V.K. (i) Two tier system
Rao
(c) L.M. (i11) Panchayat Samiti to
Singhvi be the executive
body
(d) Balvant (iv)Setting up of Nyay
Rai Panchayats
Mehta
(v) Constitutionalization
of Panchayati Raj
Codes :

(@ () () (@
A @) @@ @>Gv) (i)
B) @ () (v) (i)
© v @ @Gv) (i)
(D) Gi) @Gv) (@) (V)

46. Match List — I with List — II. Select
the correct answer from the codes
given below :

List -1 List — 11

(a) Bhoodan Movement (i) 1986

(b) Drought-Prone Area (i1) 1978
Programme

(c) Integrated Rural (111) 1970

Development

Programme

(d) Indira Aawaas Yojna  (iv) 1951

(v) 1981

Codes :

(@ b (© @
(A) (v (@) @ (@)
B) ) @O v (V)
(©) Gv) (@) Gy @)
(D) Gi) @Gy av) 1)

Read the passage below and
answer the questions that follow based on
your understanding of the passage
(47 - 50)

The Indian Constitution makes
the provision for the appointment of the
Chairman and members of the UPSC. It
states that the Chairman and members will
be appointed by the President of India. As
the President is only the nominal head of
the government, these appointments are, in
reality, made by the Prime Minister and
his cabinet. The exact strength of the
Commission is not specified in the
Constitution. The President determines its
strength. Over the years, the Commission’s
membership has increased, depending on
the workload.

The Constitution provides that,
as nearly as may be, one-half of the
members must be persons who have held
office for at least ten years under the
Government of India. The expression ‘as
nearly as may be, one-half’ in Article 316
indicates only approximation and cannot be
read as equivalent to not more than half.

The Administrative Reforms
Commission, in its report on Personnel
Administration, had recommended that the
Chairman of UPSC should be consulted
while making appointments of members of
the Commission, and besides, he should be
consulted by the Government even with
regard to the appointment of his successor.
Stressing the value of the ‘experience
factor’, the ARC had suggested that not
less than two-thirds of the members of
UPSC should be drawn from among the
Chairmen and members of State Public
Service Commissions.
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45. A - 1 % gEr - 11 9 e s

3R Ve P ¥ T IW H a9
ity

(d)

et - 11
(i) e uikeg =
Hear TS e
9T E |
Srate. (i) fgERE
K E] T
TAUH. (i) duEd g@fEta
Tegerait I T
FHEHR] FHE
m
TAGT T (iv) =g g=Edr
Hear I TG
(v) Yemadr T
Hererfertor

:ﬁ;ﬁ_l
CNICH

e

(A)
(B)
©)
(D)

(@ () () (@
(i) @ (v) (i)
» G (v) (D)
v) @ (>Gv) (i)
() (v) (@) (v)

46. g — 1 & gEr - 11 ¥ foere s

LEN

5 T 2 § ¥ el W A T

i :

(a)
(b)

(©

(d)

?o

(A)
(B)
©)
(D)

et - 1

PH A= (i)
gEr-garad (i)
& HIAhH

TR UTHOT (i)
foreprar

FHIIHH

e A (iv)
BIEC)

et - 11

1986
1978

1970

1951
(v) 1981

@ () (© (@
(v) @) @ ()
(i) (@) (@Gv) (V)
(iv) (i) @) @)
(i) (i) @(v) (@)

=1 uftesg r ufgu qen ot fsu o ueAt &
I T UKD Hl T THHR & IR T
I : (47 - 50)

YR & o o G oAtk deall AT
% TR IR T I AT T A € |
TH Iood TohAT T & TR 3TedeT SR WS i
T AR o ezl §RT Sl ST | FEih
AT TRBR o A o 37eed §, hienT 3
et arae & guEEE SR S dhee
ZRT Y STl & | AT % WS i ardiaeh
AT HT Soot@ Giauq § Fél fopar T ¥ |
LT geh! W T A € | fonTe @it | e
I O o SMMYR T AN & TS i 9= §
FFEATEE |

e © e fohan T § o get
IRA WHR H HH T FT 39 a9 @ o &l |
ITTE 316 T IfoaTia “THTHT 3T T’
feafad @ deod Sheaet AT G= A
3R TH “3Td | 37Tk FEl o SRR T ug ST
THATE |

TR GER SR = SR TR
et 1ot Ruwe ® fawiier &t off fof 2T o
% T W WY R S AT | 36k
3T 3Weh ITRACT i Ffe o day | o
WHR FRT I WY {ohal ST =g |
‘S % FRE h Hed W T Id gU
TR GUR 3TN = e f5ar o1 6 €=
Ak WA TN % HH W FHH A e 95,
T Ik Tl TR o 3Tededi 31k Wewi § 9
fete I =nfe |
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The Constitution explains the
grounds on which the members of
the Commission can be removed or
suspended by the President. When a
member is to be removed on grounds
of misbehaviour, the President has to
refer the matter to the Supreme
Court for enquiry.

The Supreme Court sends its
verdict to the President and the latter
is bound by this advice. If the Court
advises removal, the President can
remove the Chairman or a member.
While the enquiry is going on, the
President can remove the Chairman
or a member on these grounds too :
(1) if he is adjudged insolvent, (ii) if
he engages in paid employment
outside the duties of his office during
his tenure, and (iii) if he is unfit by
reason of infirmity of body and
mind.

Besides, if the Chairman or a
member becomes concerned or
interested in any contract or
agreement made by or on behalf of
the Government of India and
participates in any way in the profit,
benefit or emoluments therefrom,
otherwise than as a member, he shall
be deemed guilty of misbehaviour.
In cases of misbehaviour alone, the
matter is referred to the Supreme
Court so that the Commission is
immune from political pressures.
However, the Constitution does not
elaborate the categories of acts
falling under ‘misbehaviour.” So far,
no Chairman or member of the
Commission has been removed on
this ground.

47.

48.

49.

50.

Under which Article of the
Constitution, the Chairman of UPSC
is appointed ?

(A) 311 (B) 315
(©) 316 (D) 309
Point-out  the  option  which

prescribes  the  eligibility  of
appointment for the members of
UPSC.

(A) 50% of the members having
held the office for at least 10
years under the Government of
India.

(B) 50% members having held the
office for at least 15 years
under the Government of
India.

(C) As nearly as may be %2 having
served for at least 10 years
under the Government of
India.

(D) As nearly as may be %2 having
served for at least 15 years
under the Government of
India.

The procedure for initiating an
enquiry against the members of the
Commission has been prescribed in
the Constitution under Article :

(A) 143 (B) 144
(C) 145 (D) 146

On what ground, President of India
can remove a member of the
Commission.?

(A) Engaged in paid employment
elsewhere

(B) Infirmity of body and mind
(C) Adjudged as insolvent
(D) All the above
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e 37 SR S ot T TR
T ¥, STk ROt Ie2uld 3R ST & TEEl
1 g2 A freiferd foham ST gehar € | &g femdt
TS H JHAER % FHRUT @A ST §, Al
Teafd §RT I8 HHeT Sie % fold 3ooad
AT T ST RN | ST =ATATCT YTt
T 37T TR ST & 3TR gt s 37t
ToIE AT TSl & | Afg mEerd SvedeT A
Tl TEE ot §&H T FATE ST &, af i
3TeeT T 39 WS 1 8T Wbl & | 5T el =t
TET &l 39 GHT off AT 39 STER W 37egeT A7
PR @ ReTIRd g (i) AR eS|
Teanforar =it fran M &y, (i) A 9% o
FIIRIA & IR 3T U & JIcat & STerrar
Tt St TSTIR | o & 3R (i)  afs =%
IR AR gt foia & HRor @ &
SAATE |

THE WE-AY AT T AT B T
IRA THR R AT 3TN 3R Foiea fowadt
feRT a1 FRR § G5 A1 aeg & R Th
T &I &had ¥ = 2faaa @ 399 g e
@Y, fedeny ar uRefer=t § fRd ueR @
YRTIER 81 T 39 S8R 1 &1 THe S |
THEER % UH A § & q€ THC Soaan
T Rl ST SO, Ak AN WIS
IEHIGE JaE T IS | AlRT HowE H
THTER’ o ST 3T dTel Fedll bl ST B
Sooig el TohaT T € | 3Tl Tk 39 SR W
3TN o fohalt aTeder a1 TS ol Rl g T
T

47.

48.

49.

50.

Tfou & fRE SR o oM §F
Ik ol 3TN o 3TedeT o gfa ot
ST & 2

(A 311
(C) 316

B) 315
(D) 309

= A 9 39 foehed &1 99T HiT

TS G5 A Wl ST & GeE@ i

feferet <Rl amrel <ht Sooia fehan T R

(A) 50 v IS UF g S
TRT TR & 3L FH & FH
10 oS ek a1 i & |

(B) 50 Wid¥d TS UQ g ST
ORA TFR & 3T 7 T FH
15 o T Ya i & |

(C) ST i T STelt T Ut
g SR 9RaG WHER F
3T 9 ¥ T 10 99 T Ja
HIE |

(D)  G&E! i eI e T e
e M 9Ra WeR ®
3T 9 ¥ T 15 99 T Ja

HE |

ST % G & RGel® Sra i i
vifshan e & foh s o & T
g2

(A) 143 (B) 144
(© 145 (D) 146
TR & LU TohT SHROT & ST &
HEET 1 &2l Hehel &

(A) ST 3= AT USTIR H & |
(B) IIRIN 3R AMGe faahid |
(C) T feanferar =ity fopam T en |
(D) ST & |
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